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|51 Solve the foliowing LPs by the revised simplex
| method.

©) xy x x5 X Xg X =2
1 2 1 0 -8 0 i)
0 1 1 3 =2 -1 01 6
1t 2 1 3 -1_-5 0 |13
3 2 -3 -6 10 -5 1.0

x; 2 Ofor all /; minimizez. .~
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7.2 Find a feasible solution to the following system of linear constraints using a -
!-nethod discussed in this chapter. ( Ve r@\/‘iged, Zivn F]ex Wie-tho 0&)

rn T I3 T4

i 0 1. -1 =3
1 1 2 0 |{=10
1 1 1 -2{214

x,-?——Ofora.llj

If the system is infeasible, fromn the information in the final tableau show how
to make the system -

7.17 Solve the following LP. (% - veviced s*émf/az meth

If possible, determine a feasible éblut'i;)n'_rwh_ere: the objective function h

= —200.

Minimize —21?1 +_2172

subject to

I
—-I1

T2

+25

+I3

'+:r:3

+x3 -—x4 +Is

=z3 Yz
z; Z 0 for all j

! the data in the original RHS constants vector can be modified
| feasible.




